18002 PARENT

Point#1 10000.000 10000.000
S 81 49 54 E 360.000

Point # 2 9948.851 10356.348
S 0 31 42 W 218.360

Point # 3 9730.500 10354.334
S 89 46 18 W 354.000

Point # 4 9729.089 10000.337
N 0 4 17 W 270.910

Point # 5 9999.999 10000.000

AREA = 86,907.05 sf (1.9951 acres)

LENGTH =1203.27

NORTHING ERROR =-0.001 EASTING ERROR = +0.000
LINEAR ERROR=S 22 18 21 W 0.001



18002 LOT 4

Point#1 10000.000 10000.000
S 81 49 54 E 323.930

Point # 2 9953.975 10320.644
) 54 55 38 W 391.370

Point # 3 9729.088 10000.338
N 0 4 17 W 270.910

Point#4 9999.998 10000.000

AREA = 43,425.38 sf (.9969 acres)

LENGTH = 986.21
NORTHING ERROR =-0.002

EASTING ERROR = +0.000

LINEAR ERROR=S 0 21 60 E 0.002



18002 LOT 5

Point #1 10000.000 10000.000
N 54 55 38 391.370

Point # 2 10224.888 10320.306
S 81 49 54 36.070

Point # 3 10219.763 10356.010
S 0 31 42 218.360

Point#4 10001.412 10353.997
S 89 46 18 354.000

Point # 5 10000.001 10000.000

AREA =43,481.54 sf (.9982 acres)

LENGTH = 999.80

NORTHING ERROR = +0.001

LINEAR ERROR=N 20 37 42 W 0.001

EASTING ERROR = +0.000



